St. Catherine’s School
Waverley

2008

ASSESSMENT TASK 2
(20%)

Mathematics
Year ||

General Instructions

» Working time — 55 minutes

* Atternpt Questions 1-4

* Start each question on a new page
in your answer booklet. :

s If any additional booklet is used, please
label it clearly and attach it to the
appropriate booklet.

» Write using black or blue pen only.

» Board-approved calculators may

be used.
* All necessary working must be shown.

" e Marks may be deducted for careless or

badly arranged work

Student Number:

Total marks — 48
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QUESTION 1
(2)  Simplify (2+33)(45 - /15)
(b)  Given that Sl a~b5 , find the value of & and b
J5+1
(c) Solve for x:
@ 2<4-3x<7
()  |x+7|=2x-1
i)  |5x-1=2
(d)  Find the value of xif f(x)=7 where f(x)=2"" -1
QUESTION 2
(& If f(x)=x-3x+5 find
@  fO+10
i =D
b) State the natural domain and range of the following functions:
@ y=x-1
(i) y=9-x"
.3
@ - y= 2x+1
(c) - Write down the equation of the Verticé.l asymptote of y= 4x2
X—
(@ Find lim — 02
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QUES

TION 3 o ' (11 marks)

(@)  Showthat f(x)=x+x is an odd function 2

(b) Sketch the following graphs showing their essential features

. 1
(1) y= ; -1 2
G) y=-2* ’ 1)
(i) y=x*-3x-4 n

. (c) The function f(x) is defined as follows:

mx+4 when x>2
fx)= 1 when 2<x<2
x2 when x<-2
If f(-3)= f(3), find the value of m 3
QUESTION 4 (10 marks)
(a) Shade the region defined simultaneously by y 2|x+3| and y <2 14
®) Write down the equation of the circle with centre (6, -8) with radius 10 units,

©

and find the coordinates of the points where this circle cuts the x-axis /3

x*—4x

Sketch f(x)= , showing any points of discontinuity 3

END OF TEST
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